
 398 

 7
5 

 2
88

 

 452 

 253 

 1
5 

11783

30657

2682

18616

33883

32457

2680

3381

2605

2961

2926

4890

2497
Art.-Nr.:
Part no.:

Menge:
Amount:

Benennung DE:
Description DE:

Benennung EN:
Description EN:

33883 1 NHR-400-255-VL NHR-400-255-VL | Pressure frame
30657 1 NHP NDH-400-255-VL-ESD NHP NDH-400-255-VL-ESD | Pressure frame plate
3381 10 Nutenstein 5 M4 Sliding block 5 ITEM  M4
2497 2 GDF-185-60-050N-A6-A6 GDF-185-60-050N-A6-A6 | Gas pressure spring

18616 4 Nutenstein 5 St M3 sliding block 5 ITEM M3
32457 2 Griff in RAL 5015 blau Handle, blue
2605 4 Abstandsrolle 6,2 x 3 Distance roll  6,2 x 3 | Lutz Nr.168.09.03

11783 10 Linsenschraube M 4x 16 T20 Button head screw M 4x 16 T20 | ISO 7380 - A2
2961 4 Linsenschraube M 3x  8 T10 Button head screw M 3x  8 T10 | ISO 7380 - A2
2682 2 Zyl.-Stift D 4m6x 30 Parallel pin D 4m6x 30 | ISO 8734  C1 - A2
2680 4 Zyl.-Stift D 4m6x 20 Parallel pin D 4m6x 20 | ISO 8734  C1 - A2
2926 10 Zyl.-Schraube M 4x 20 T20 Head cap screw M 4x 20 T20 | ISO 14579 - A2
4890 10 GB-M04-07,5mm-G GB-M04-07,5mm-G | Bushing

Montageanleitung/instruction sheet

gespeichert/saved: 30.09.2024 09:00:23

1:4

NDH-400-255-VL-ESD Niederhalter
Benennung/Designation:Maßstab/Scale:

DIN A3

Blatt/Sheet
1 von 233884

Artikel-Nr./PartNo.:

NDH-400-255-VL-ESD | Pressure frame unit

1
Index:

RoHS-2

7654

F

E

D

A

B

81 32

C

D
ie

se
 te

ch
ni

sc
he

 U
nt

er
la

ge
 is

t g
ei

st
ig

es
 E

ig
en

tu
m

 d
er

 F
a.

 IN
G

UN
 P

rü
fm

itt
el

ba
u 

G
m

bH
. S

of
er

n 
ke

in
e 

an
de

rsl
au

te
nd

e 
sc

hr
ift

lic
he

 v
er

tra
gl

ic
he

 R
eg

el
un

g 
be

st
eh

t, 
da

rf 
sie

 o
hn

e 
au

sd
ru

ec
kl

ic
he

 v
or

he
rig

e 
Ei

nw
illi

gu
ng

 w
ed

er
 v

er
vi

el
fa

el
tig

t, 
no

ch
 v

er
br

ei
te

t, 
no

ch
 d

rit
te

n 
Pe

rso
ne

n 
in

 so
ns

tig
er

 W
ei

se
 z

ug
ae

ng
lic

h 
ge

m
ac

ht
 w

er
de

n,
 n

oc
h 

an
de

rw
ei

tig
 m

iss
br

au
ch

t w
er

de
n.

Th
is 

te
ch

ni
ca

l d
oc

um
en

ta
tio

n 
is 

in
te

lle
ct

ua
l p

ro
pe

rty
 o

f I
N

G
UN

 P
ru

ef
m

itt
el

ba
u 

G
m

bH
. U

nl
es

s o
th

er
w

ise
 

co
nt

ra
ct

ua
lly

 a
gr

ee
d 

in
 w

rit
in

g,
 it

 is
 n

ot
 p

er
m

itt
ed

 to
 d

up
lic

at
e 

or
 d

iss
em

in
at

e 
it,

 n
or

 m
ay

 it
 b

e 
m

ad
e 

ac
ce

ss
ib

le
 to

 th
ird

 p
ar

tie
s i

n 
an

y 
ot

he
r w

ay
, o

r o
th

er
w

ise
 b

e 
m

isu
se

d 
w

ith
ou

t o
ur

 e
xp

lic
it 

pr
io

r c
on

se
nt

.



 0
 

 1
30

 

 1
70

 

 1
90

 

 1
30

 

 1
70

 

 1
90

 

 0 

 77,5 

 155 

 235 

 312,5 

AA

 10x 6 + 0,1
0  

 10x 8,5  1
0x

 1
,6

 

 4x 4 R7
  

SCHNITT A-A
MAßSTAB 1 : 1

2926 4890 2680

Montageanleitung/instruction sheet

gespeichert/saved: 30.09.2024 09:00:23

1:3

NDH-400-255-VL-ESD Niederhalter
Benennung/Designation:Maßstab/Scale:

DIN A3

Blatt/Sheet
2 von 233884

Artikel-Nr./PartNo.:

NDH-400-255-VL-ESD | Pressure frame unit

1
Index:

7654

F

E

D

A

B

81 32

C

D
ie

se
 te

ch
ni

sc
he

 U
nt

er
la

ge
 is

t g
ei

st
ig

es
 E

ig
en

tu
m

 d
er

 F
a.

 IN
G

UN
 P

rü
fm

itt
el

ba
u 

G
m

bH
. S

of
er

n 
ke

in
e 

an
de

rsl
au

te
nd

e 
sc

hr
ift

lic
he

 v
er

tra
gl

ic
he

 R
eg

el
un

g 
be

st
eh

t, 
da

rf 
sie

 o
hn

e 
au

sd
ru

ec
kl

ic
he

 v
or

he
rig

e 
Ei

nw
illi

gu
ng

 w
ed

er
 v

er
vi

el
fa

el
tig

t, 
no

ch
 v

er
br

ei
te

t, 
no

ch
 d

rit
te

n 
Pe

rso
ne

n 
in

 so
ns

tig
er

 W
ei

se
 z

ug
ae

ng
lic

h 
ge

m
ac

ht
 w

er
de

n,
 n

oc
h 

an
de

rw
ei

tig
 m

iss
br

au
ch

t w
er

de
n.

Th
is 

te
ch

ni
ca

l d
oc

um
en

ta
tio

n 
is 

in
te

lle
ct

ua
l p

ro
pe

rty
 o

f I
N

G
UN

 P
ru

ef
m

itt
el

ba
u 

G
m

bH
. U

nl
es

s o
th

er
w

ise
 

co
nt

ra
ct

ua
lly

 a
gr

ee
d 

in
 w

rit
in

g,
 it

 is
 n

ot
 p

er
m

itt
ed

 to
 d

up
lic

at
e 

or
 d

iss
em

in
at

e 
it,

 n
or

 m
ay

 it
 b

e 
m

ad
e 

ac
ce

ss
ib

le
 to

 th
ird

 p
ar

tie
s i

n 
an

y 
ot

he
r w

ay
, o

r o
th

er
w

ise
 b

e 
m

isu
se

d 
w

ith
ou

t o
ur

 e
xp

lic
it 

pr
io

r c
on

se
nt

.

RoHS-2


	Blatt1
	Zeichenansicht1
	Zeichenansicht2
	Zeichenansicht3
	Zeichenansicht4

	Blatt2
	Zeichenansicht5
	Zeichenansicht6
	Schnittansicht A-A


